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06 BEEHZD

XEA=#EIm L PR=AEF60cml E3ImEiH (EAR=#E60cmK ik

No EE HiiE BEa(m)  BEAGEARDOH) &=
c1 =R HhouLz/ 3.0 0.40
c2 =R hoLz/ 3.0 0.40
c3 = HhoL=/ 3.0 0.40
c4 =R HhouLz/ 3.0 0.30
c5 AR HOULZ/ 2.5
D1 R YINE 1.8
D2 R VJAES 1.6
D3 =2/ N YN 2.3
D4 R VAES 1.8
D5 =)/ N YINE 1.9
D6 =2/ N YN 1.9
D7 R VAE 1.7
D8 =)/ N YINE 1.9
D9 h R YINE 1.9
D10 R YINF 1.9
D11 R YINF 2.2
D12 R VJAES 2.2
D13 hR VIAE S 2.2
D14 th R VZAE= 2.2
El th K FoEHIEA 2.0
E2 =R FUEYEA 3.0 0.30
K1 R HHUh 2.0
K2 R HHh 1.8
K3 hR YHh 1.6
K4 R YHh 1.8
K5 R HHh 2.0
K6 thoRK HHh 1.8
K7 R HHUh 2.4
K8 R HHh 2.4
K9 thoRK HHh 2.4
K10 R HHUh 2.2
K11 R HHUh 2.4
K12 R HHh 2.5
K13 hR HHh 2.2
K14 R HHh 2.4
K15 R HHh 2.4
K16 th R YHh 2.5
K17 R YHh 2.2
K18 bR HHh 1.9
K19 R HHh 1.9
K20 AR HHh 1.8
K21 =2p/ N HHUh 1.8
K22 R HHh 2.2
K23 hR HHh 2.2
K24 R HHUh 2.2
L! EX TIXIYD 0.3
L2 EXR WAVE VAP 0.3
L3 BEXR HIXIYD 0.3
L4 BEXR HIXIYD 0.3
L5 EXR I IID 0.5
N1 =R TohY 5.0 0.56
N2 = ohY 35 0.75
N3 = oh 5.0 0.62




06 BEEHZD

EmA-RAR-ER

XEA=#EIm L PR=AEF60cml E3ImEiH (EAR=#E60cmK ik

BE—

No EE HiiE BEa(m)  BEAGEARDOH) &=
o1 = A AFTA 7.0 1.50
P1 =R ARy 4.0 0.70
P2 = ARy 40 0.62
P3 =R AAHRY 4.0 0.57
P4 = AR RAYRY 4.0 0.60
R1 =2p/ N FoTY 1.7
wi PR Evyay 2.4
w2 AR Evyay 2.2
w3 AR Evay 2.0
w4 PR Evay 2.4
w5 AR Evyay 1.6
w6 AR Evay 2.7
w7 =2/ Eyay 2.6
w8 PR Evay 2.2
w9 AR Evay 2.8
w10 =2/ N ®vay 2.2
wii R Eyay 2.8
wi2z AR Evay 2.8
wi3 R Evay 2.5
wi4 R Evyay 2.6
w15 = AR Evyay 35 0.40
wi7 R Evay 2.4
wi8 R Eyay 2.2
w19 PR Evay 2.2
w20 AR Evay 2.2
w21 =op/ N Evay 2.2
21 AR 7tE 1.2
Z2 =/ N 7tE 1.2
Z3 th R 7tE 1.2
Z4 AR T7rE 1.9
Z5 =/ N 7tE 1.2
Z6 R 7tE 1.2
Z7 th R T7rE 1.2
Z8 K 7tE 1.2
Z9 =/ N 7tE 1.2
b1 =R AF3 45 0.80
b2 =R AF3w 45 0.80
b3 =R AFa 45 0.80
b4 =R AF3 45 0.85
b5 =K AFaw 45 0.73
b6 =R AFa 45 0.75
b7 =R AFaw 45 0.60
b8 =R AF3v 45 0.61
b9 =R AF3 45 0.70
b10 =R AF3 45 0.60
b11 =R AF3v 45 0.61
b12 =R AF3 45 0.60
b13 =R AF3 45 0.80
b14 =R AF3 45 0.80
b15 =R AF3w 45 0.70
b16 =R AFa 45 0.60
cl AR EID 1.7
c2 K EID 2.3




BA-PR-EX HE-ER

06 BEEHZD

KEA=REImUE FAR=#E60cml L3ImKH {EAR=#E60cmEiH

No ER HiiE BEa(m)  BEAGEARDOH) &=
d1 R NFEPNP 0.8
d2 B R NP 0.7
d3 PR NP PR 0.8
d4 R NFEPNP 0.7
d5 hR N2 DAV 0.7
d6 bR NP PR 0.7
d7 K NP 0.9
d8 hR N2 BV 0.8
d9 hR N PR 0.8
d10 R NP 0.8
di11 K N2 SAVAI S 0.7
d12 hR NP 0.8
d13 R N DA 0.9
di4 R NFEPNP 0.7
i1 =R YA/ 6.0 1.00
j2 =R YA/ 8.0 1.80
i3 =mA VEREP 8.0 1.95
r R V¥ 2.9
s oK AR4 1.0
A1 = A A1XI¥ 3.3 0.60
& = AR EXTVAY 40 0.75
&3 = EXSVRAY 45 0.90
k4 = EXSVRAY 3.6 0.90
&5 =R EYIVRY¥ 40 0.80




06 ZEEHZH

il

RE—ER

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No ER HiiE ma(m) () AR EE(m) %
*1 R FUEIEA 2.0 40 24.0
1 EXR HIXIYD 0.2 0.8
2 EXR HIXIYD 0.4 30
3 B IV 0.4 2.0
4 KR IV 0.4 2.8
%5 R WaVE SV 0.6 10 34
6 AR HIXIYD 0.6 0.5 2.3
97 th R I 0.6 05 2.3
8 hR WAVE YA 0.7 2.0 6.2
9 th R HIXIYD 0.7 9.0 22.3
410 R VAL AP 0.6 0.8 33
11 AR U UID 0.6 0.4 2.0
+12 thR HIXIYD 0.7 3.7 9.6
413 th R TIXIYD 0.7 1.8 5.6
414 K TIxIITD 0.7 15 5.0
215 EXR WAVE SV 0.5 0.4
416 EXR HIXIYD 0.3 0.7
H17 EXR IV 0.3 0.3
18 EXR W AVESVAID 0.3 1.0
319 EXR HIXIYD 05 24.0
420 EXR I 05 85
521 EXR W AVESVAIL 0.5 6.0
22 EXR HIXIYD 0.4 3.0
23 thR TIXIYD 0.6 0.6 25
24 ER TIxIITD 0.5 1.0
25 EXR WAVE SV 0.5 1.0
26 EXR TIXIYD 0.5 1.0
527 ER IV 0.5 1.0
428 EXR WAVE SV 0.5 1.0
429 EXR TIXIYD 0.5 1.3
30 EXR IV 0.5 2.4
431 EXR W AVESVAID 0.5 2.0
32 EXR HIXIYD 05 1.3
433 BEXR TIXIYD 0.5 1.7
34 EXR HIXIYD 05 1.4
35 EXR HIXIYD 05 1.2
436 th R TIXIYD 0.8 1.0 4.4
37 K IV 0.6 1.6 5.0
438 EXR HIXIYD 0.4 45
439 EXR IV 0.4 1.2
+40 KRR VAL AP 0.4 0.4
41 EXR WAVE SV 0.5 6.5
142 EXR HIXIYD 0.4 33
443 EXR VAL AP 05 40
44 EXR IV 0.4 33
445 thR HIXIYD 0.6 1.2 43
46 EXR VAL AP 05 40
47 EXR IV 0.5 21.9
48 EXR HIXIYD 0.4 40
49 EXR TIXIYD 0.5 1.4
4450 AR IV 0.8 23.8 34.0
51 =/ N waVE SV 0.7 27.0 473
4452 th R HIXIYD 0.7 1.8 3.0




06 ZEEHZH

RE—ER

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No ER HiiE ma(m) () e A=) %
453 th R TIXIYD 0.7 0.6 3.0
454 EXR HIXIYD 0.5 0.4
455 R HIXIYD 0.7 11.6 20.1
456 th R IV 0.6 1.3 5.0
57 ER IV 0.5 0.6
458 EXR WaVE SV 0.4 1.0
159 EXR HIXIYD 0.3 0.3
460 EXR I 05 15.0
61 EXR W AVESVAIL 0.5 05
1 th R WA S 0.7 1.9 5.2
Y1 hR ATFALSHYFYID 0.7 6.0 11.6
V2 EXR ALY TIIY 0.4 45.0
V3 thR ALY TIID 0.6 2.0 4.4
5 EXR AHALZHYFUID 0.5 0.3
6 AR ATHLSHYFIID 0.7 05 1.9
V7 EXR ALY FIID 05 0.3
V8 th R AT LZYFIID 0.6 0.4 2.0
9 R ATHLSHYFUID 0.8 1.8 6.1
Y10 hR ALY TIID 0.6 0.4 20
Y11 th R ALY FIID 0.9 0.9 5.0
Y12 PR ATHLZHYFIID 1.0 25 8.1
Y13 hR ALY TIID 10 2.9 7.7
V14 th R A LZYFIID 1.0 2.0 7.7
Y15 thR ALY FIID 1.0 2.0 7.7
16 AR FA LY IIY 10 1.8 7.7
Y17 R ALY FIID 0.9 2.9 75
V18 th R FTHALZHYFIIUD 0.8 1.0 4.2
19 R R AHLSHYFIID 0.8 2.0 6.5
20 R ALY FIID 0.8 1.8 6.1
W21 th R AT LZHYFIID 0.8 1.0 4.2
22 R ATHLSHYFUID 0.8 1.0 4.2
V23 hR ALY TIID 0.8 1.0 42
24 th R A LZYFIIYD 0.7 0.5 2.6
25 th R FTHLZHYFIID 0.7 0.5 26
26 h R ALY IIY 0.7 0.5 26
V27 R ALY FIID 0.8 0.8 4.2
28 th R FTHALZHFIIUD 0.7 0.8 3.7
29 h R ALY TIIY 0.7 0.4 2.2
30 R ALY FIID 0.7 0.7 34
31 R ALY FIID 0.7 0.4 2.2
32 R R AHLSHYFIID 0.8 1.4 5.2
V33 hR ALY TIID 0.7 0.4 2.2
34 th R ALY FIID 0.7 0.4 2.2
35 hR ATHLSHYFIID 1.2 1.0 5.8
36 hR ALY IIY 0.7 1.0 338
V37 thR ALY TIID 0.7 1.0 38
38 hR ATHLZHYFUID 0.9 0.8 4.6
39 hR ALY TIIY 0.8 1.0 4.2
V40 thR ALY TIID 0.9 0.7 4.1
N R NP DA 0.9 2.0 5.8
K2 PR NFEPNP 0.9 2.0 5.8
K3 h K N2 BRI 1.1 35 9.6
K4 bR PR 1.1 1.7 7.6




RE—ER

06 BZEEHZH

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No ER HiiE ma(m) &3 () FARKEE(M) %
K5 R NP 1.2 1.2 6.5
K6 R NFEPNP 1.1 0.6 30
K7 th K NP 1.2 1.9 6.0
K8 R NP 1.4 8.2 275
K9 R NFEPNP 1.0 05 33
K10 h K N2 SIS 1.0 05 33
Z1 % TN 14.0
Z2 % TINE 69.1
Z3 = INE 25.0
Z4 % TN 7.2
Z5 a3 NS 14.9
Z6 % INE 7.1
Z7 % TN 28.1
Z8 % DINE 280.4
Z9 = NZE 14.9
Z10 % TN 42
Z11 % TINE 11.1
Z12 = DINEE 49
Z13 z% INE 11.1
Z14 & INEE 83.8
Z15 % TINE 16.7
Z16 3 DINEE 4.4
Z17 & INEE 86.8




BAR-PAR-ER RE—E

07 RRAEHPERESREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %
B1 AR AXIY 1.1
N2 =mA ohY 35 0.35
% =mA TTINA 47 0.80
V2 =mA TTINA 49 0.80
V3 =mA TTNA 49 0.75
V4 =mA TTINA 49 0.85
V5 =mA TTINA 47 0.70
V6 =mA TTINA 5.2 1.00
V7 = A TTINA 5.7 1.25
V8 = TTINA 55 1.20
%7 = A TTINA 5.3 1.45
V10 = TTINA 5.4 1.70
wi = A Evay 3.9 0.65
w2 = A Evay 35 0.40
w3 = Evay 38 0.70
w4 = Evay 34 0.55
w5 = A Evay 36 0.45
w6 = A Evay 38 0.40
w7 = A Evay 35 0.40
w8 =R Evay 3.7 0.70
w9 =R Evay 3.9 0.60
w10 =R Evay 3.9 0.76
wit =R Evay 38 0.71
wi2 =R Evay 38 0.58
wi3 =R Evay 40 0.68
wi4 =R Evay 42 0.70
wis =R Evay 36 0.44
w16 =R Evay 38 0.65
wi7 =R Evay 40 0.55
wi8 =R Evay 40 0.82
w19 =R Evay 36 0.60
j1 =R YOS 38 0.80
j2 = AR VAN 40 0.95
j4 = AR VAN 48 0.95
ni R RV ACS 29
n2 =R RV IAES 3.4 0.23
n3 R FIYINFE 2.6
n4 =R RV IAES 45 0.50
n5 =R RV IAES 35 0.30
n6 =R RV JAES 3.7 0.35
n7 =R RV JAES 42 0.36
n8 =R RV JAES 44 0.55
n9 =R RV JAES 42 0.40
n10 =R P RVAIAES 3.1 0.25




BAR-PAR-ER RE—E

07 RRAEHPERESREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
nii =K PRV IAS 33 0.35
n12 =R P RYA A 33 0.30
n13 oK P RYATAES 2.6
n14 =R FYUYINFE 3.6 0.40
n15 oK P RYATAES 2.3
n16 =R P RYATAES 3.2 0.40
n17 =R P RYA A 3.1 0.35
s thoK 70 2.9
(X1 K a/TeN 2.7
(%2 = a/7EN 3.4 0.70
(%3 = A a/7EN 3.2 0.70
(X4 K a/TEeN 2.7
51 hR X IRy 0.8
52 hR X IRy 0.8
53 B R X IRy 0.7
H4 B R X IRy 0.8
56 hR X IRy 0.8
57 hR X IRy 0.8
58 hR X IRy 0.8
59 hR X IRy 0.8
510 B R X IRy 0.8
H11 B R X IRy 0.6
512 B R X IRy 0.7
513 B R X IRy 0.7
514 B R X IRy 0.7
515 B R X IRy 0.7
516 B R X IRy 0.7
517 B R X IRy 0.8
518 B R X IRy 0.8
519 B R X IRy 0.8
520 B R X IRy 0.8
521 hR X IRy 0.8
£22 h R X IRy 0.6
523 h R X IRy 0.7
524 BEXR X IRy 05
525 h R X IRy 0.6
526 h R X IRy 0.8
527 h R X IRy 0.8
528 h R X IRy 0.8
£29 B R X IRy 0.8
530 B R X IRy 0.7
531 B R X IRy 0.8
532 B R X IRy 0.8




07 RABDEREZHZREHMN

%

BE—%

X AR=15 560cm LA _E 3mR it {EAR=4HE60cmRKil Z=&F

No TR s me(m) () AR EE(mM) =
1 hR TIXIYD 0.7 109.2 156.3
52 R WAVE YA 0.6 0.5 2.3
%3 EXR TIXIYD 0.4 24.0
4 R TIXIID 0.4 27.8
Y1 R A LZH UV 0.9 11.3 24.8
V2 EAR ALY XIIY 0.5 1.2
V3 EXR FALZH VYUY 05 1.2
Va4 PR AFA LZH VYUY 0.8 385 101.7
5 ER ALY XUIY 0.5 6.0
6 R AHALZH TV 0.8 216 43.7
Z1 <& INZE 225.0
2 e DNFE 138.0
23 & INEE 159.0
Z4 e DINE 20.0
Z5 % TINE 20.0
26 e NE 13.0
7 T E DINE 117.0
8 & INZE 40.0
29 % SINE 40.0
<10 <& DINE 50.0
Z11 & INE 12.0
Z12 e NE 36.0
<13 & DINE 162.0
14 <& DN 52.8
<15 = PZAS 16.6
Z16 & INEE 7.9
Z17 TF DINE 473




EA-RR-ER RAE-ER

08 HFHHBBHEREZZREHHN

XEA=EEImU L PAR=#E60cmLl E3ImEiH EA=4E60cm*E i

No EH g mem)  BEAGEADH) Lk
D1 =/ N YINE 3.0 0.40
E2 =R FUEIEA 45 0.80
c = YIEID 35 0.30
c2 =A YIEID 35 0.30
c3 =A YIEID 35 0.30
c4 = YIEID 35 0.30
c5 =A YIEID 35 0.50
c6b = YIEID 35 0.50
gl =R Ry 5.0 0.95
g2 =R Ry 5.0 1.20
g3 =R Ry 5.0 1.10
g =R Ry 5.0 1.20
gb =R 7YX 5.0 0.84
gb =R Ry 5.0 1.00
g7 =R Ry 5.0 1.20
g8 =R Ry 5.0 1.20
g9 =R Ry 45 1.01
g10 =K Ry 45 1.00
gl =K Ry 45 1.04
g12 =K Ry 45 1.20
g13 =K Ry 45 1.10
gl4 =K Ry 45 1.00
g15 =K Ry 45 1.10
g16 =K Ry 45 0.90
g17 =K Ry 45 0.90
g18 =K Ry 45 0.50
gl9 (SN TN 4.0 0.92
g20 (SN TN 4.0 1.22
g21 =K Ry 4.0 0.90
g22 =K Ry 4.0 0.90
g23 =K Ry 4.0 1.14
g24 =K Ry 7.0 0.70
g25 =R 7YX 7.0 0.67
g26 =R 7YX 7.0 0.63
g27 =R 7YX 7.0 0.60
g28 =R 7YX 7.0 0.70
g29 =R 7YX 7.0 0.76
g30 =R 7YX 7.0 1.02
g31 =R 7YX 45 1.50
g32 =R 7YX 45 1.00
g33 =R 7YX 45 0.90
g34 =R 7YX 45 1.30
g35 =R 7YX 45 1.30
g36 =R 7YX 45 1.30




EA-RR-ER RAE-ER

08 HFHHBBHEREZZREHHN

XEA=EEImU L PAR=#E60cmLl E3ImEiH EA=4E60cm*E i

No EH g mam)  BEAGEADH) Lk
g37 =K T E 45 1.30
g38 =K TN E 45 1.22
g39 =K T E 45 1.20
g40 =K TN E 45 1.20
g41 =R Ry 45 0.94
g42 =K Ry 45 0.90
g43 =K T E 35 1.60
g44 =K Ry 3.5 0.45
g45 =K TN E 35 1.00
j1 =R YA/ 45 0.80
j2 =R YA/ 40 0.63
i3 =R YA/ 5.0 0.80
4 =R YA/ 5.0 0.95
i5 =R YA/ 5.0 0.92
i6 =R YA/ 5.0 0.90
j7 =R YA/ 5.0 0.95
i8 =R YA/ 5.0 0.95
i9 =R YA/ 45 0.80
10 =R YA/ 45 0.80
j11 =R YA/ 45 0.60
j12 =R YA/ 40 0.80
nb =R PRV IAES 35 0.25
n6 =R PRV IAE S 35 0.35
n7 =R U RVAVJAL = 35 0.30
n8 =R U RVAVJAL = 35 0.30
n9 =R PRV IAE S 35 0.25
n10 =R U RVAVJAL = 35 0.25
n11 =R U RVAVJAL = 35 0.20
n12 =R PRV IAE S 35 0.25
n13 =R PRV IAES 35 0.25
pl =R INFEXF 3.5 0.35
p2 =R INFEXF 3.5 0.45
p3 =R NFEXF 3.5 0.45
p4 =R NFEXF 3.5 0.30
p5 =R NFEXF 3.5 0.30
p6 =R NFEXF 3.5 0.35
p7 =R NFEXF 3.5 0.35
p8 =R NFEXF 3.5 0.30
p9 =R NFEXF 3.5 0.30
p10 =R NFEXF 3.5 0.30
p11 =R NFEXF 3.5 0.30
p12 =R NFEXF 3.5 0.30
p13 =R NFEXF 3.5 0.30
pl4 =R NFEXF 3.5 0.30




EA-hAR-ER RAE-ER

08 HFHHBBHEREZZREHHN

XEA=BEImIU L FAR=HEE60cml E3mEKHE EAR=1E60cmE

No EH HiE mcm)  BREAGEARDH) &5

p15 =R NFEXF 35 0.30
pl17 =R NFEXF 35 0.40
p19 =R NFEXF 35 0.25
p20 =R NFEXF 35 0.30
ri AR P 2.0

r2 AR P 2.0

(X1 =K AFA 3.0 0.40




08 HERMBEBEREZHSEHH

RE—ER

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No ER HiiE ma(m) () AR EE(m) %
+1 BEXR VA 0.5 0.6
1 EXR I 0.5 27.6
2 EXR HIXIYD 05 54.3
3 EXR IV 05 9.6
4 KR IV 0.5 49.6
%5 EXR WaVE SV 0.5 29.4
6 AR HIXIYD 0.7 28.0 36.1
vl EXR I 0.4 26.5
8 EXR WAVE YA 0.4 12.2
9 BEXR HIXIYD 0.4 16.2
410 EXR VAL AP 0.4 131.6
11 EXR PIXIYD 0.4 10.8
H12 EXR HIXIYD 0.4 7.2
%13 BEXR TIXIYD 0.5 7.2
H14 KR IV 0.5 7.0
215 EXR WAVE SV 0.4 95
%16 EXR HIXIYD 0.5 405
H+17 EXR IV 0.5 30.0
18 EXR WAVE VAP 0.4 3.7
319 EXR HIXIYD 05 10.3
420 EXR I 05 2.3
521 EXR W AVESVAIL 0.5 8.0
22 EXR HIXIYD 05 6.1
23 EXR TIXIYD 0.5 20.0
24 KR I 0.4 5.1
25 EXR WAVE SV 0.4 48
26 EXR TIXIYD 0.5 1.4
27 KRR VAL AP 0.5 0.6
428 EXR WAVE SV 0.4 25
29 EXR TIXIYD 0.4 2.5
30 EXR IV 0.5 0.6
431 EXR W AVESVAID 0.5 1.4
32 EXR HIXIYD 0.4 34
433 BEXR TIXIYD 0.4 38
34 EXR HIXIYD 0.5 2.0
435 EXR HIXIYD 05 16.6
436 EXR TIXIYD 0.5 1.6
37 EXR IV 0.3 2.4
438 EXR HIXIYD 05 2.4
439 EXR IV 0.3 38
+40 KRR VAL AP 0.3 05
41 EXR WAVE SV 0.5 2.4
142 EXR HIXIYD 05 10.2
943 EXR VAL AP 0.4 11.7
44 EXR PIXIYD 0.4 11.7
445 EXR HIXIYD 0.3 12.4
46 th R VAL AP 0.6 5.2 8.2
47 EXR IV 0.4 24.0
1 thR THLSHFIYD 0.6 7.6 12.3
V2 EXR THLSHFIYD 05 27.6
3 ER THALZHFIVYD 0.5 53.8
V4 EXR T LSHXFIYD 0.5 56.0
5 th R THLSHFIYD 0.7 361.7 4933




FiE-EF RE—ER

08 HERMBEBEREZHSEHH

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No ER HiiE ma(m) () e A=) %
6 EXR THLSHFIYD 0.4 129.8
V7 EXR THALZHXIYD 0.5 248
V8 R THLSHFIYD 0.6 91.2 155.8
9 EXR THLZHFIYD 0.4 2.9
Y10 KR A LSHFIID 05 6.9
Y11 EXR THLSHXFIYD 0.4 38
Y12 EXR THLZHFIYD 0.4 38
Y13 EXR THLZHFIID 05 9.0
V14 EXR A LSHFIYD 0.4 38
Y15 BEXR THLSHFIYD 0.4 38
16 EXR THLZHFIID 0.4 38
Y17 EXR THALZHXIVYD 0.4 38
V18 EXR THLSHFIYD 0.4 40
w19 BEXR THLSHFIYD 0.4 35
20 KR THLSHFIID 05 4.1
Y21 EXR T LSHFIYD 0.5 41
22 EXR TH LS FYYD 0.5 9.9
23 EXR A LZHXIID 0.5 25.6
24 EXR A LSHXFIYD 0.5 25.3
25 EXR THLSHFIYD 0.5 6.5
26 EXR THLSHFIYD 05 20.0
V27 EXR A LSHFIYD 0.5 10.2
V28 BEXR THLSHFIYD 0.5 9.4
29 EXR THLZHFIID 05 7.0
30 ER THALZHXIVD 0.4 5.9
Y31 EXR TH LI YD 0.4 9.7
V32 EXR THLSHFIYD 0.4 6.6
33 KRR ALY FIID 05 10.0
34 EXR THLSHXIYD 0.5 2.9
35 EXR THLSHFIYD 0.5 45
36 R FTHALZHXIVYD 0.7 9.9 25.9
V37 hR XA LSHXFIYD 0.7 9.5 24.2
38 EXR THLSHFIYD 0.5 4.1
39 PR THLSHFIID 0.7 9.9 25.9
40 h R THALZHXIVYD 0.7 9.5 24.2
Y41 EXR THLSHFIYD 0.5 44
42 EXR THLZHFIYD 0.4 7.7
43 EXR THALZHXIYD 0.5 43
V44 EXR T LSHFIYD 0.5 15.4
45 R THLZHFIYD 0.6 2.9 5.8
46 R R A LSHFIID 0.6 6.3 10.6
V47 EXR T LSHXFIYD 0.5 11.0
48 EXR THLSHFIYD 0.5 6.8
49 EXR THLSHFIYD 05 25.6
50 EXR THALZHFIYD 0.4 10.5
Y51 EXR THLSHFIYD 0.4 10.5
52 hR THLSHFIYD 0.6 8.4 9.8
53 EXR THALZHFIVYD 0.4 480
54 EXR THLSHFIYD 0.3 1.3
55 EXR THLSHFIYD 0.4 7.2
<1 KR AV 05 13.6
<2 EXR IAIT 0.5 48
<3 AR TAYY 0.6 15.0 25.2




FiE-EF RE—ER

08 HERMBEBEREZHSEHH

X AR=RE60cml E3mEKiE ER=HE60cmEKin T=2%F

No E&R [k = (m) & (m) AR EE(M) =
<4 R IAYYT 0.6 83.8 1145
<5 PR IAVY 0.6 195 27.0
<6 EXR IAYT 0.5 2.4
<7 EXR IAVY 0.5 35.8
Z1 = NZE 105.6
2 & DZAY: 86.3
3 % TN 64.0
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KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EH HiiE Eam)  BAGADH) %
B11 B R A5 0.6
B12 B R A5 0.6
d16 R NZEPANP 0.6
d26 R NZEPANP 0.6
L2 thR PIXIYD 0.7
L3 thR PIXIYD 0.7
L4 thR PIXIYD 0.7
L5 thR HIXIYD 0.7
L6 K IV 0.7
L7 K TV 0.7
L8 K TV 0.7
L9 K TV 0.7
L10 K TV 0.7
L17 K TV 0.7
L12 K TV 0.7
L13 K TV 0.7
cl (SN AANEDD 5.2 0.86
c10 =R AONEDD 7.0 0.40
c2 (SN AANEDD 5.0 0.70
L14 K WAVE VAL 0.7
c3 [=% N AONEDT 5.0 0.60
c5 [=% N AONEDT 10.0 1.20
c6 [=% N AONEDT 42 0.60
c7 [=% N AONEDD 45 0.40
c8 [=% N AONEDT 45 0.40
c9 [=% N AONEDT 42 0.60
d17 K N2 DAV 0.7
D19 =R YINF 5.0 0.40
el =R A 5.0 0.30
El =R FUEIEA 3.2 0.40
d18 K N2 DAV 0.7
E16 =R FUEYEA 6.0 1.80
F1 =R rVES 13.0 1.50
d21 Bh K N2 DAV 0.7
d22 Bh K N2 DA 0.7
d23 Bh K N2 DAV 0.7
d24 Bh K N2 DA D 0.7
d25 Bh K N2 DA 0.7
B4 R AXIY 0.8
B5 R AXIY 0.8
B7 R AXIY 0.8
B8 R AXIY 0.8
B9 R AXIY 0.8
d15 Bh K NI 0.8




BAR-PAR-ER RE—E

09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
L7 th R PIXIYD 0.9
d13 R NZEPANP 0.9
d19 R NZEPANP 0.9
f2 =mA H) 35 0.90
gl = A 7YX 13.0 1.20
g10 =K TN 18.0 1.20
gl =K TN 22.0 2.10
g12 =K TN 15.0 1.80
g2 = A XX 13.0 1.80
g3 = Rty 13.0 1.80
g4 = A Rty 13.0 1.20
g5 = Ry 13.0 1.50
g6 = TN 13.0 1.80
g7 = TN 3.0 0.30
g8 = Rty 15.0 1.20
g9 = Rty 18.0 1.40
7 =R Tubr4a 5.0 0.30
i1 = A HILANY 42 0.30
2 =R Tubr4a 42 0.15
al =2p/N ToHA 1.0
B6 hR AXIY 1.0
B10 B R ARG 1.0
d1 K N2 BV 1.0
d14 K N2 DAV 1.0
d2 K N2 DAV 1.0
d3 K N2 DAV 1.0
d5 K N2 DAV 1.0
d6 K N2 BV 1.0
d7 K N2 DAV 1.0
d8 K N2 DAV 1.0
d9 K N2 DAV 1.0
t1 =2 N NS 1.0
r2 AR LoYFxT 1.0
B3 R AXIY 1.1
d10 Bh K N2 DA 1.1
d11 Bh K N2 DAV 1.1
d12 Bh K N2 DA D 1.1
d4 Bh K N2 DA 1.1
B R AXIY 1.2
B2 R AXIY 1.2
D23 R YINF 1.2
Al =)/ N Vid= 14
a2 R ToHA 15
D17 R YINF 15




BAR-PAR-ER RE—E

09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
(F11 =2 N [=A 15
El4 thoK *UEYEA 1.7
t2 =2 N INT 1.7
f1 Bh R Hz 1.8
K15 AR HHh 1.8
(X6 K E/N 1.8
r1 Bh R LoYFoxT 1.8
L15 R HIXIYD 05
L16 B IV 0.5
L17 BEXR TV 0.5
L18 B TV 0.5
L719 BEXR TV 0.5
i2 = A HILANY 38 0.50
i3 = A HILANY 38 0.30
i4 = HILAN 40 0.30
i5 = HILAN 35 0.30
i7 = A HILANY 40 0.33
K8 hR HHh 2.0
J1 =R HFAEF 5.2 0.40
j1 =R YA/ 8.0 1.80
i10 = A AL/ 15.0 1.80
11 = A AL/ 12.0 1.20
12 = A AL/ 8.0 1.20
i13 = A AL/ 8.0 1.20
i14 = A AL/ 8.0 1.20
i15 = A AL/ 8.0 1.20
K11 R HHh 2.0
(F4 R e/ 2.0
(£10 R E/N 2.0
H12 hR NZNFAETF 2.0
i16 = A AL/ 13.0 1.20
17 = A AL/ 15.0 1.00
18 = AR AL/ 12.0 1.20
19 = AR AL/ 15.0 1.20
j2 = AR JA(IT/ 9.0 1.60
20 = AR AL/ 15.0 1.20
j21 = AR AL/ 15.0 1.20
j22 = AR AL/ 15.0 1.20
23 = AR AL/ 15.0 1.50
24 = A AL/ 20.0 0.90
j25 = A AL/ 13.0 1.50
i3 =R YA/ 9.0 1.40
j4 = A YA/ 9.0 1.46
5 = AR JA(IT ) 9.0 1.80




BAR-PAR-ER RE—E
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KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
i6 =mA VERE 11.0 1.00
7 =mA VERE 11.0 1.00
i8 =mA VERE 11.0 2.10
i9 =mA VEREP 12.0 1.50
mf = A rohTT 14.0 1.50
N1 =mA ohY 6.0 1.35
N2 =mA ohY 40 0.51
N3 =mA ohY 40 0.54
N4 = A ohY 5.0 0.45
N5 = ohY 5.0 0.40
N6 = A ThY 5.0 0.30
N7 = ohY 6.0 0.70
pl = A NFIXF 46 0.39
p2 = A NFIXF 42 0.30
p3 = NFIXF 5.0 0.40
p4 = NFIXF 38 0.40
p5 = A NFIXF 40 0.30
p6 = A NFIXF 3.0 0.25
p8 = A NFIXF 46 0.30
ql =R IR 40 0.30
71 (=N VT 3.1 0.33
710 (=N VT 3.1 0.32
711 =N A 3.1 0.30
712 =K VT 3.1 0.45
713 (=N VT 3.1 0.40
H16 hR NZNFAETF 2.0
H17 hR NZNFAETF 2.0
H18 hR NZNFAETF 2.0
H19 hR NZNFAETF 2.0
H20 hR NZNFAETF 2.0
H21 hR NZNFAETF 2.0
H22 hR NZNFAETF 2.0
H23 R NZNFAETF 2.0
H24 R NZNFAETF 2.0
H25 R NZNFAETF 2.0
H26 R NZNFAETF 2.0
714 E=% N VA 33 0.30
H27 R NZNFAETF 2.0
H28 R NZNFAETF 2.0
H29 R NZNFAETF 2.0
H30 R NZNFAETF 2.0
H31 R NZNFAETF 2.0
H32 R NZNFAETF 2.0
H33 R NZNFAETF 2.0




BAR-ARER

09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No TR HiiE Eam)  BAGADH) %
H34 th R RZHTAEF 2.0
H35 B R RZATAEF 2.0
H36 th R RZHTAEF 2.0
H37 B R RZQTAEF 2.0
H38 th R RZHTAEF 2.0
72 =K V7 3.1 0.30
H39 th R RZHTAEF 2.0
H40 th R RZHTAEF 2.0
H136 B R RZHhTFAEF 2.0
E5 hR XUEIEA 2.2
K2 hR HHh 2.2
K4 hR HHh 2.2
K10 hR HHh 2.2
K12 hR HHh 2.2
D15 hR YINF 22
D7 == N YINF 2.2
D8 == N YINF 2.2
(X17 hR E/N 2.2
d20 KR NZEPNP 05
H1 hR RZHhTFAEF 2.2
H2 FAR NZNFAETF 2.2
H3 FAR NZNFAETF 2.2
H4 FAR NZNFAETF 2.2
H5 FAR NZNFAETF 2.2
H6 FAR NZNFAETF 2.2
H7 FAR NZNFAETF 2.2
H8 FAR NZNFAETF 2.2
H9 FAR NZNFAETF 2.2
H10 FAR NZNFAETF 2.2
H11 FAR NZNFAETF 2.2
H14 FAR NZNFAETF 2.2
H15 AR NZNFAETF 2.2
73 =R Vo 3.1 0.35
T4 =R Vo 3.1 0.30
75 =R Vo 3.1 0.30
76 =R Vo 3.1 0.30
77 =R Vo 3.1 0.32
78 =R Vo 3.1 0.30
H42 AR NZNFAETF 2.2
79 =R Vo 3.1 0.30
H43 AR NZNFAETF 2.2
H44 AR NZNFAETF 2.2
H45 AR NZNFAETF 2.2
H46 AR NZNFAETF 2.2




BAR-ARER

09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—K

No TR HiiE Eam)  BAGADH) %
H47 B R RZQTAEF 2.2
H48 th R RZHTAEF 2.2
H49 th R RZHTAEF 2.2
H50 B R RZQTAEF 2.2
H51 B R RZQTAEF 2.2
H52 B R RZQTAEF 2.2
H53 B R RZATAEF 2.2
H54 B R RZQTAEF 2.2
H55 B R RZHhTFAEF 2.2
H56 B R RZHhTFAEF 2.2
H57 B R RZHhTFAEF 2.2
H58 B R RZHTFAEF 2.2
H59 hR RZHhTFAEF 2.2
H60 hR RZHhTFAEF 2.2
vi =K h¥ 40 0.60
51 = AaA7 8.0 1.20
52 = A A A7 7.0 0.60
53 = A A A7 7.0 0.80
& = A EXSVRE 7.0 0.70
H61 hR RZHhTFAEF 2.2
H62 FAR NZNFAETF 2.2
H63 FAR NZNFAETF 2.2
H64 FAR NZNFAETF 2.2
H65 FAR NZNFAETF 2.2
H66 FAR NZNFAETF 2.2
H67 FAR NZNFAETF 2.2
H68 FAR NZNFAETF 2.2
H69 FAR NZNFAETF 2.2
H70 FAR NZNFAETF 2.2
H71 FAR NZNFAETF 2.2
H72 FAR NZNFAETF 2.2
H73 AR NZNFAETF 2.2
H74 AR NZNFAETF 2.2
H75 AR NZNFAETF 2.2
H76 AR NZNFAETF 2.2
H77 AR NZNFAETF 2.2
H78 AR NZNFAETF 2.2
H79 AR NZNFAETF 2.2
H80 AR NZNFAETF 2.2
H81 AR NZNFAETF 2.2
H82 AR NZNFAETF 2.2
H83 AR NZNFAETF 2.2
H84 AR NZNFAETF 2.2
H85 AR NZNFAETF 2.2
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09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No TR HiiE Eam)  BAGADH) %
H86 th R RZHTAEF 2.2
H87 B R RZATAEF 2.2
H88 th R RZHTAEF 2.2
H89 th R RZHTAEF 2.2
H90 th R RZHTAEF 2.2
H91 th R RZHTAEF 2.2
H92 th R RZHTAEF 2.2
H93 th R RZHTAEF 2.2
H94 B R RZHhTFAEF 2.2
H95 B R RZHhTFAEF 2.2
H96 B R RZHhTFAEF 2.2
H97 B R RZHTFAEF 2.2
H98 hR RZHhTFAEF 2.2
H99 hR RZHhTFAEF 2.2
H100 B R RZHhTFAEF 2.2
H1071 B R RZHhTFAEF 2.2
H102 hR RZHhTFAEF 2.2
H103 hR RZHhTFAEF 2.2
H104 hR RZHhTFAEF 2.2
H105 hR RZHhTFAEF 2.2
H106 FAR NZNFAETF 2.2
H137 FAR NZNFAETF 2.2
H138 FAR NZNFAETF 2.2
H139 FAR NZNFAETF 2.2
H140 FAR NZNFAETF 2.2
H141 FAR NZNFAETF 2.2
H142 FAR NZNFAETF 2.2
E9 hR FUEYEA 2.3
K13 R HHh 2.3
K14 R HHh 2.3
K16 R HHh 2.3
D18 hR YINF 2.3
(X2 R E/N 2.3
(X3 R E/N 2.3
(X5 R E/N 2.3
(X7 R E/N 2.3
K18 AR HHh 2.4
D10 R YINF 2.4
D11 R YINF 2.4
D12 R YINF 2.4
D13 R YINF 2.4
D14 R YINF 2.4
D21 R YINF 2.4
D22 R YINF 2.4




BAR-ARER

09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No TR HiiE Eam)  BAGADH) %
D4 B R YINE 2.4
D5 ==p N YINF 2.4
D6 B R YINE 2.4
D9 B R YINE 2.4
(X1 AR E/N 24
H13 th R RZHTAEF 2.4
H148 th R RZHTAEF 2.4
H149 th R RZHTAEF 2.4
H150 B R RZHhTFAEF 24
H151 B R RZHhTFAEF 24
H152 B R RZHhTFAEF 24
H153 B R RZHTFAEF 24
H154 hR RZHhTFAEF 24
H155 hR RZHhTFAEF 24
H156 B R RZHhTFAEF 24
H157 B R RZHhTFAEF 24
H158 hR RZHhTFAEF 24
H159 hR RZHhTFAEF 24
H160 hR RZHhTFAEF 24
H161 hR RZHhTFAEF 24
H162 FAR NZNFAETF 24
H163 FAR NZNFAETF 24
H164 FAR NZNFAETF 2.4
H165 FAR NZNFAETF 24
H166 FAR NZNFAETF 24
H167 FAR NZNFAETF 24
H168 FAR NZNFAETF 24
H169 FAR NZNFAETF 2.4
H170 FAR NZNFAETF 24
H171 FAR NZNFAETF 24
H172 FAR NZNFAETF 24
H173 AR NZNFAETF 24
H174 AR NZNFAETF 2.4
H175 AR NZNFAETF 2.4
H176 AR NZNFAETF 2.4
H177 AR NZNFAETF 2.4
H178 AR NZNFAETF 2.4
H179 AR NZNFAETF 2.4
H180 AR NZNFAETF 2.4
H181 AR NZNFAETF 2.4
H182 AR NZNFAETF 2.4
H183 AR NZNFAETF 2.4
H184 AR NZNFAETF 2.4
H185 AR NZNFAETF 2.4
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09 FREBEREZHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No TR HiiE Eam)  BAGADH) %
H186 th R RZHTAEF 2.4
H187 th R RZHTAEF 2.4
H188 th R RZHTAEF 2.4
H189 th R RZHTAEF 2.4
H190 th R RZHTAEF 2.4
H191 thR RZQTAEF 2.4
H192 th R RZHTAEF 2.4
H193 th R RZHTAEF 2.4
H194 B R RZHhTFAEF 24
H195 B R RZHhTFAEF 24
H196 B R RZHhTFAEF 24
H197 B R RZHTFAEF 24
H198 hR RZHhTFAEF 24
H199 hR RZHhTFAEF 24
H200 B R RZHhTFAEF 24
H201 B R RZHhTFAEF 24
H202 hR RZHhTFAEF 24
H203 hR RZHhTFAEF 24
H204 hR RZHhTFAEF 24
H205 hR RZHhTFAEF 24
H206 FAR NZNFAETF 24
H207 FAR NZNFAETF 24
H208 FAR NZNFAETF 2.4
H209 FAR NZNFAETF 24
H210 FAR NZNFAETF 24
H211 FAR NZNFAETF 24
H212 FAR NZNFAETF 24
H213 FAR NZNFAETF 2.4
H214 FAR NZNFAETF 24
H215 FAR NZNFAETF 24
H216 FAR NZNFAETF 24
H217 AR NZNFAETF 24
H218 AR NZNFAETF 2.4
E3 R XUEIEA 25
E4 R XUEIEA 25
E12 R XUEIEA 25
K5 AR HHoh 2.5
K6 AR HHoh 2.5
K7 AR HHoh 2.5
i6 AR HILANY 25
21 AR AXaF)ES 25
22 AR AXaF)ES 25
Z3 AR AXaF)ES 25
Z4 AR AXaF)ES 25




BAR-PAR-ER RE—E
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KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

T15 PR Vi 2.5
D7 ==p N YINF 2.5
D16 ==p N YINF 2.5
D2 ==p N YINF 2.5
D20 AR YINE 25
D3 ==p N YINF 2.5
(X8 K E/N 25
(X9 K E/N 25
(%12 hR E/N 25
(%13 hR E/N 25
(X14 hR E/N 25
(%15 hR E/N 25
s =) N oy 25
s2 =) N oy 25
H41 B R RZHhTFAEF 25
D24 hR YINF 25
D25 hR YINF 25
D26 hR YINF 25
D27 hR YINF 25
D28 hR YINF 25
D29 hR YINF 25
D30 hR YINF 25
D31 hR YINF 25
D32 hR YINF 25
D33 hR YINF 25
D34 hR YINF 25
E2 hR FUEYEA 2.6
E10 hR FUEYEA 2.6
E13 hR FUEYEA 2.6
E15 hR FUEYEA 2.6
K9 R HHh 2.6
K17 R HHh 2.6
p7 AR NFEXF 2.6
H143 AR NZNFAETF 2.6
H144 R NZNFAETF 2.6
H145 AR NZNFAETF 2.6
H146 AR NZNFAETF 2.6
H147 AR NZNFAETF 2.6
cli == N AONEDY 2.7
E11 R XUEIEA 2.7
K1 AR HHoh 2.7
K3 AR HHoh 2.7
H107 AR NZNFAETF 2.7
H108 AR NZNFAETF 2.7
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HE—%

No TR HiiE Eam)  BAGADH) %
H109 th R RZHTAEF 2.7
H110 th R RZHTAEF 2.7
Hi111 thR RZQTAEF 2.7
H112 th R RZHTAEF 2.7
H113 th R RZHTAEF 2.7
H114 th R RZHTAEF 2.7
H115 B R RZATAEF 2.7
H116 th R RZHTAEF 2.7
H117 B R RZHhTFAEF 2.7
H118 B R RZHhTFAEF 2.7
H119 B R RZHhTFAEF 2.7
H120 B R RZHTFAEF 2.7
H121 hR RZHhTFAEF 2.7
H122 hR RZHhTFAEF 2.7
H123 B R RZHhTFAEF 2.7
H124 B R RZHhTFAEF 2.7
H125 hR RZHhTFAEF 2.7
H126 hR RZHhTFAEF 2.7
H127 hR RZHhTFAEF 2.7
H128 hR RZHhTFAEF 2.7
H129 hR NZNFAETF 2.7
&2 =R EXSVRAY 7.0 0.80
&3 =R EXSVRAY 7.0 0.60
&4 =R EXSVRAYE 7.0 0.60
&5 =R EXSVRAY 6.5 0.72
H130 hR NZNFAETF 2.7
H131 hR NZNFAETF 2.7
H132 hR NZNFAETF 2.7
H133 hR NZNFAETF 2.7
H134 hR NZNFAETF 2.7
H135 hR NZNFAETF 2.7
A1 hR A1XTF 2.8
c4 ==p N AONEDD 2.8
E6 R XUEIEA 29
E7 R XUEIEA 29
E8 R XUEIEA 29




HiE-T% FAE—EXR
09 FTRBBEREBESHZRSBHEM
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF
No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

71 R T 1.1 35 11.7
11 R AXYY 1.8 2.5 19.2
71 R DFF 1.0 1.5 6.5
VA EXR AL AP 05 8.0

2 EXR W AVESVAID 0.5 10.0

3 R HUXxIYD 0.6 37.0 71.1
4 R AL A% 0.7 9.0 17.4
5 R VAL AP 0.7 155 43.2
6 R wAVE VAP 0.7 5.0 15.2
7 R AL A% 0.7 6.0 17.6
8 R AL AP 0.6 25.0 37.2
9 R wAVE VAP 0.6 420 77.4
210 EX LA 0.4 4.0

11 [N AL AP 0.4 4.0

12 EXR WAVE VAP 0.4 5.0

13 R HUxUUD 0.8 7.2 17.3
14 EXR LA 05 10.0

15 EXR VAL AP 0.5 40.0

16 R HUXxIYD 0.7 24.0 38.6
H17 EXR AL AP 0.4 2.0

18 K VAL AP 0.6 4.0 7.6
19 EX wAVE VAP 0.4 10

20 EXR AL A% 0.3 0.4

21 EXR AL AP 0.4 1.8

22 =/ N WAVE AP 0.6 4.0 7.4
23 R YYD 0.6 15.0 235
24 R AL AP 0.7 40.0 70.8
425 =P/ N WAVE VAP 0.8 3.0 8.6
26 R HUxUUD 0.8 50.0 97.7
27 R LA 0.6 3.0 7.2
428 K I IIT 0.6 30.0 46.5
429 R YYD 0.6 50.0 75.4
430 R AL A% 0.6 120.0 176.1
31 R AL AP 0.7 5.5 12.3
32 R wAVE VAP 0.7 5.0 113
433 R YUY 0.7 5.0 1.3
434 R AL AP 0.7 5.0 11.3
435 R wAYE VA 0.7 2.0 6.4
36 R YYD 0.7 13.0 24.3
37 R AL AP 0.7 19.0 36.2
438 K I IID 0.7 6.0 13.0
1 R FTHLZHFTYID 0.8 11.0 27.4
V2 R ALY FIVD 0.8 11.0 27.4
V3 R TH LS FIUID 0.8 30.0 53.2
V4 R FTA LT FIVD 0.8 12.0 21.9
5 R ALY FIID 1.2 70.0 121.6
6 R ATHALTHFIID 1.0 7.0 19.1
7 hR FTALZHFIVD 0.6 5.0 9.2
8 R THLSHFIID 0.6 3.0 6.0
9 R ALY FIVYD 1.0 27.0 456
Y10 R FTALZHFIID 0.6 5.0 7.1
Y11 R FTALZHFTIID 0.6 7.0 18.6




HiE- 2% RE-ER
09 FTRBBEREBESHZRSBHEM
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF
No TR BE =1 =(m) EE(n) fh K 5 E () &=

Y12 AR TH LY XY ID 0.7 7.0 13.3
N PR (N2 BRI S 0.8 55 14.7
K2 R (NP 0.8 40.0 62.4
k3 EXR NPE AN 0.4 20.0

K4 AR (N2 SIS 1.0 95.0 150.9
k5 ER (N2 BTN 0.4 3.0

1 a3 D7A 127.0

Z2 A N 15.0

1 % 4 7.0

439 R AL A% 0.7 5.0 29.4
+40 AR YD 0.7 5.0 9.8
21 a2 DZA 493

Z2 a3 DINE 178.9

3 <& DN 91.8

4 a3 NE 39.1

5 <& DINE 8.8

Z6 = TINE 139.2

) a3 DN 68.3

Z8 <& INEE 9.4

<9 <& PZAS 238

Z10 a3 INE 83.5

Z11 3 DINE 144.6

212 o DAL 213.2

213 A DN 409.8

Z14 a3 DINE 118.2

15 e DINFE 150.0

Z16 a3 DINE 157.0

217 z% JINE 69.7




